Sciernce

TBAT: C,au,g out an experiment.

Prediction:

Method.:

Time taken to hreak:

Was your prediction correct?




Sciernce
TBAT: C,ar,r,g out an experiment.

= The gingerhread .man needs your help! He needs to know whether he
f‘é; can cross the river without crumhling?

é& It takes 60 seconds to cross the river.

Time taken to hreak.

Gingerhread .man wants to .advise his hiscuit friends ahout whether they should

cross the river.

Prediction.:

Method:

Biscuit type: Time taken to bhreak:

Digestive

Which hbiscuits should cross the river? Why?

Which hiscuits shouldn't cross the river? Why?




